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101|R#A7 L 146 13 133| Kg |&)I 2,376 972|iEE 3,240 864
102|357 L 1,917 1917| Kg BIE 1,566 555
111|&EEF £ 267 267| Kg BiE 1,782 432
113|RAV S 6 4| Kg |EE 1,404 864| £ 3,024 2,160
114|B5EFE 174 167| Kg |ER 1,728 ERE - BE 2,970 1,728
15[ 1= 1 Kg |EfE 1,404
121{hblE € 15 14 1| Keg [@EB 2,376 865| 1,296
134[#= 208 150 58| Kg |=# 2,800 1,400| £ 6,480 1,729
137|&5E3.< 413 200 213 Kg |&m 4,428 2,484| &R 7,823 3,240
138|#ik £ = 50 50[ Kg FfE 972 864
140(5 I 26 26| Kg e[AEs 57,600 37,800
147|EZ O 70 70| Kg BEIRE - | 10,260 5,000
158|EIEA A LS 219 219| Kg =40 3,208 1,998
201{Lvb L 919 919| Kg =3B - /) 540 144
203|/hd L 238 238|  Kg R 432 297
206| = 1F 595 595| Kg FfE 1,080 480
207| = AE 20 20| Kg sl 945
208| Mo % 97 97| Kg L 3,456 702
210|1F ALy 48 48 Kg |Ri& 3,240 1,782
212| %585 1) 1,111 1,111 Kg FIE 2,430 1,350
251|< B %<3 151 151 Kg |F=E 3,240
254|E b ECH 968 23 945| Kg |FE 2,268 L 2,484 1,166
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303[A 27z 27 271 Kg 864
305|xAah>0b 4 41 Kg 4,320 3,024
306|Le &Y 15 151 Kg 1,620 1,404
315|7: b5 6 10 10| Kg 3,240

3191 h o 158 158] Kg 2,808 1,296
3321 WA =EF 551 184 367 Kg 1,404 3,024 1,404
3BlHHY 5 5 Kg 3,564

3541 <Y 138 80 58| Kg 1,728 1,404 1,944 1,134
3/5|HEY) 146 10 136] Kg 1,404 2,106 600
356|L LA 75 5 70| Kg 324 1,512 432
3577/~ E 50 50[ Kg 2,160 945
362| & 845 845 Kg 3,420 612
4025 E 10 10| Kg 5,616 5,508
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B il HLAVE
AH w05E | AR TE ity FET) | fE) | ZefEi) FE FHE(T) | PG | 2D
RN L 40 40| Kg F 1,450 1,250
AEBRA AT 876 876 Kg 3 3,942 878
SE WA AR 20 20| Keg F 980
TRER 50 50| Kg JtF 1,296 842
BRI 312 312| Kg 73 3,771 1,650
ERANC 30 30 Kg JtF 4,000 900
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70110 BA 108 108 Kg s 1,836 1,782
704\ LETF 7 71 Kg FiE 2,808
710(2 2 AT 39 391 Kg Ko 783 745
713|IL L» & HF 5 5 Kg bloi ] 6,975
BlBEFALANIN 91 91 Kg |B1R 889 799
755\ ®H L 41 41 Kg E=AES 803 728
76713725 W\ H 75 751 Kg FJE 3,600 3,420
B01[IBAL = 1S 374 3741 Kg ¥ -mA 1,728 756
802|1 x| 20 201 Kg gl 1,836
8051 1E 456 456 Kg JbiF 1,145 745
810|FAKF 628 628 Kg bF 2,808 1,350
903|FhHh 9 9] Kg EE 2,160
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